v.1.1



	Solve each expression.
	
	Solve each expression and check with the given answer.

	1. 8 (4 + 5) – 32 =
	
	1. 33 + 4(6 – 2) = 43

	2. 10 + 42 / 2 x 3 =
	
	2. 3/4 + 6/8 – (0.7 + 0.3) = 1/2

	3. 2 [1/3 + 5/6 + (3 + 7 x 4)] – 70 =
	
	3. –7 x 100 – (4 + 3 x 2) = -17



	Solve each expression.
	

	1. 15 ÷ 3 + 12 ÷ 4 =
	2. 3 x (4 + 5) – 7 =

	3. 15 ÷ 5 x 3 =
	4. 40 x (6 – 2) =

	5. 12 (7 – 2 x 3 ) =
	6. 7 [5 + (13 – 22) ÷ 3] =

	7. 10 [8 (15 – 7) – 4 x 3] =
	8. 24 – 42 x 90 =


	Insert parenthesis to make each equation true.

9. 71 – 17 + 4 = 50

10. 8 – 5 x 4 + 2 = 18

11. 18 ÷ 3 + 6 + 12 = 14

	Solve:
12. Your parents want to do some landscaping to spruce up the yard. They would like to plant several trees to add shade to the area. An internet site is selling saplings for $24.00 each. Shipping and handling charges are $9.00. How much will 8 saplings with shipping and handling added in cost?


Answer Key mat_8_1_4_k2b_1

Guided Practice

1. 63

2. 34
3. 63 1/3
Review Practice

1. 43

2. ½

3. -17

Independent Practice

1. 8

2. 20

3. 9

4. 160

5. 12

6. 56

7. 520

8. 0

9. 71 – (17 + 4) = 50

10. (8 – 5) x (4 + 2) = 18

11. (18 / ( 3 + 6)) + 12 = 14

12. $201.00
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